Economics
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The author of the book "The General Theory of Employment Interest and Money"
IS

(@) Adam Smith (b)  John Maynard Keynes

(c)  Alfred Marshall (d) Amartya Sen
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In an economy, the production units are called
(@) Firm (b) Household
(c) Government (d) External Sector
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How can a country trade (Economic exchange) with other countries
(@  Through import (b) Through export
(c)  Through flow of foreign capital  (d) All of these
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We can avoid the problem of "double counting" by
(@)  Adding the price of only final goods

(b)  Adding the price of only intermediate goods
(c) Not including price of intermediate goods
(d)  Both (a) and (c)
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Which of the following is not a "flow variable"

(@) Profit (b)  Production
(c) Investment (d) Capital
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A firm's value-added is

(@)  Value of firm's output price - intermediate goods
(b)  Value of firm's output - depreciation

(c) Firm's net contribution to output

(d) Both (a) and (c)
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Which of these equations is correct
(@  Gross domestic product=C+S+T (b) C+I1+G+X-M=C+S+T
c (A-S)+(G-H=M-X (d) All of these
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Net indirect taxes is defined as

(@)
(©)

Direct tax - Indirect tax (b) Indirect tax - Subsidies
National income - Direct taxes (d) Direct taxes - Transfer payment
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The consumer price index

(@)
(b)
(©)
(d)

Is a method for measuring price change in an economy
It shows the purchasing power of consumer

It shows the income of the consumer

Both (a) and (b)
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In economics the literal meaning of “ceteris paribus" is

(@)
(b)
(©)
(d)

All things remaining the same

All other things remaining the same

Keeping the value of all variable other than the focused variable constant
Both (b) and (c)
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(1) Hmr Sue ygfa @ (A)  o<c<1
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In equation c=C+cy , C

(@) Is marginal propensity to consume  (b) o<c<1
(©) c=1-s (d)  All of these
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According to "Paradox of thrift"

(@  Arrise in marginal propensity to save in an economy leads to decline in
aggregate income

(b)  Saving can make a person rich but can make society poor

(c)  Thereis no paradox between individual saving and aggregate saving

(d)  Only (a) and (b)

Hqferd aIs/e TUreh 1 HH €

(37) é O — () i:—g

(@) e (2) 3 ot
The value of balanced budget multipliers
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(©) Unit (d) All of these
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The characteristics of 1944 Bretton woods system was

(@) It was a fixed exchange rate system

(b)  The national currency was convertible

(c) In case of fundamental imbalance in balance of payment permission was
granted for change in exchange rate

(d)  All of these
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A production possibility curve depicts

(@)  The limited resources of an economy

(b)  The production possibility set of an economy
(c)  The opportunity cost of production

(d)  All of these
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In a market economy, market

€)) Is a place

(b)  Aggregate of buyers-sellers

(c) A system for free exchange of goods
(d)  None of these
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X, = p,X, =M is a budget line. This line will cut the vertical axis at
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Marginal rate of substitution of indifference curve is
(@) Diminishing (b) Increasing
(c)  Constant (d) Zero
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The demand for goods which declines with rise in income are called
(@) Normal good (b)  Abnormal good

(c) Inferior good (d) None of these
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The price elasticity of demand for a rectangular hyperbola demand curve is
€)) One (b)  Greater than one
(c) Zero (d) Lessthan one
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At the point of consumer optimum

(@) Marginal Value of substitution = Price ratio
(b) Marginal rate of substitution = Price ratio
(c) Marginal rate of substitution < Price ratio
(d) None of these
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The ceiling price is

(@) Lower than equilibrium price level

(b) Equal to the equilibrium price level

(c)  Greater than equilibrium price level

(d)  Lower than minimum price but more than equilibrium price
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In a Cobb-Douglas production function 4+ g -1 shows

(@) Increasing returns to scale (b)  Decreasing returns of scale
(c) Constantreturnstoscale  (d) Variable proportions
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In production function ¢ = e1+5k the returns to scale is
(@) Increasing (b) Decreasing
(c) Constant (d) None of these
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Instruction: Questions 25 contains 4 multiple- answer type questions in which

more than one answer is correct. Colour the bubble of the OMR Sheet for all the
correct answers.
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The role of a country/state (Government) in an economic is
(@) To make laws for running the economy

(b)  To make expenditure for building public infrastructure
(c)  Toimpose tax and to raise tax-revenue

(d)  Economic Development
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The meaning of depreciation is

(@)  Allowance for regular wear and tear of capital goods

(b)  Omission in the value of gross investment

(c) Expenditure made for the replacement of existing capital
(d)  All of these
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In market economy the role of price mechanism is

(@) It indicates the availability of a goods

(b) It coordinates the activities of market

(c) It determines what goods to production and in what quantity
(d)  To provide profit to producer
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Average fixed cost curve
(@) Never touches the output axis (b) Is rectangular hyperbola
(c)  Total fixed cost + output (d) All of these
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Instruction : The question number 26 contains 4 questions, in each question
two statements are labelled as Assertion (A) and Reason (R). In the context

of the two statements, which one of the following is correct :

(a) Both (A) and (B) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(c) (A)is true, (R) is false.

(d) (R)is true, (A) is false.
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HNT (R) : UM T TUIN AT TEdl § FEl a% [ I E W
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Assertion (A) : Average prospensity to consume can never be zero.

Reason (R) :  Consumption expenditure is always positive even at

zero level of income.
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FNT (R) . EHiq YiqeT <X gEEH Bt 2
Assertion (A) : Indifference curves are generally convex to the origin.
Reason (R) :  There is diminishing marginal rate of
substitution.
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27.
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U (R)

Assertion (A)

Reason (R)

AMTFHE (A)

YT (R)

Assertion (A)
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Gross domestic product is not a measure of public —
welfare.

In measurement of GDP distribution if income, non-
financial transaction and pollution is also accounted
for.

TR st i, e A
aTferer il
THIHT BH k1 | ok FI STl SKONHF Bidl &

In monopoly, average revenue is greater than marginal

revenue.

Reason (R) :The demand curve of monopoly firm is negatively sloped.
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Instruction: There are two list given below-List | and List Il. Answer Question No.

| to IV by matching List I and List 11
& s o o d(p)=a—bp & IT-FN fog W AT *I <ig ol gafed |

Match the elasticity of demand for a straight line demand curve, d(p) =a—bp

List- | g=i- | List-11 g=i- 11
X- 318 & Terigw foag W (@) l<e<c
At the point of X- intercept
Y- 3181 & sTeRiEsh fag W (b) e=0
At the point of Y- intercept
A 9% & 7 fag W (c) e=1
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At the mid-point of the demand curve

Iv. Y-318 1@ 0 fag & o= (d e=1

Between Y-axis and mid-point
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Tl (WM oRg % M TS WAEAITEl WA W SN RO W) @M ged wROH
iR & WY 9 F 461 9¢1 34 €, Al TR ardfasd -t aRafdd 8
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Tl T, I A W WS W € - o S Y| A o T W A SR
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Instruction : Read the paragraph below carefully answer the 4 questions of
this sections on the basis of the information in the paragraph.

Aggregate demand is the relationship between the total quantity of
goods and services all the sectors of the economy demand and the price level
with all other determinants of spending unchanged. Aggregate demand curve
is a graphical representation of this relationship. The aggregate demand
curve has a negative slope like an ordinary demand curve, like the demand
curve for cars. But for the overall economy the aggregate demand curve has
negative slope for different reasons (reasons other than income and
substitution effect for normal goods). People buy more when price level goes
down because people's real wealth changes- the wealth effect. A reduction in
prices increases the value of accumulated financial assets and induces
people to increase their consumption of goods and services. As price level
changes, and aggregate demand changes. At the same time as the price level
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falls interest rates decreases — the interest rate effect. However decreases
interest rate expands the business community's investment but also increases
certain type if consumer spending such as housing and automobiles. The
net result is that as price level falls, aggregate quantity demanded increases

L
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Aggregate demand curve is a relationship between

(a) Price and quantity demanded of a good
(b) Price level and quantity demanded of a good
(c) Price level and aggregate quantity of goods demanded.

(d) None of these

el | o I @l Bl B
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Aggregate demand curve has a .............. slope

(a) Positive
(b) Zero
(c) Infinite

(d) Negative
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Increase and substitution effect determines the slope of

(a) Aggregate demand curve
(b) Aggregate supply curve
(c) Individual demand curve

(d) Individual supply curve

IS R q9E ©

(F) Hed WR AR &l &6 W W G916
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The interest rate effect is

(a) The effect of price level changes on interest rate.

(b) The effect of changes in interest rate on
consumption.

(c) Same as wealth effect

(d) Both (a) and (b)

kkhkkkkkk*k
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SHORT ANSWER TYPE QUESTION

1929 i HEMI 1 &9 H faero &l

Describe in brief the great depression of 1929.

Teh WA AT § ¥ & Igd Yo i @nad g K@

Show the circular flow of income for a simple economy with a diagram.

fepedt erefeaeen o o 3ifom =@, TG FRF S| & SR el 21 fag w1

Prove that in an economy aggregate final expenditure is equal to total factor
payment.

Tt fod o w1 g1 w1 ufd wt Sefeusw aftamn @ @2
What are the alternative definition of money supply given by Reserve Bank of
India?

TWHR & i fafyre aafeler v &1 SR & |MY Sl hi

Mention three important economic functions of a government with suitable
examples.

3 ek TG w1 3w ffew) afx R W 9% 1 ged ded € o W T A
a%h | gfad & fo g <9

Give example of two goods which are complementary. If the price of a
complementary good increase, then show change in the demand curve of the other
with suitable diagram.

TEHE HHid IAR w1 g @ 2?

What is the law of diminishing marginal productivity?
TR 3 IRed] o, Sfed oTd qen Sidid arTd ok ol o g <9

Show the short term average variable cost, average cost and marginal cost with the
help of suitable example.
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0. TUH WH % ICEH Bl ¢ Q=5U2K” afz wH & WM 100 THE L TE 100 ZHTE
K 8 af a%q &l Icdied A= fohat grft?

The production function af a firmis Q —51’2 K2, If the firm has 100 units of L and
100 units of K, the what will be the quantity of output produced?

10. TH HIHd-SwRE BH i oS FHIHd GHd T i9d guiitd § = g9 272

For a price taker firm, what is the relationship between price, marginal revenue and
average revenue?
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LONG ANSWER TYPE QUESTION

So9 Vi 51 o1 22 $HP Hecd i foa=r Hi

What is high-powered money? Explain its importance.

g /or
eI s ‘g1 b1 FEi0’ ford YR e €27 wHe|

How does commercial bank create credit? Explain.
diid Su9 wgfa = 82 91 WiHia sd ygfd @ = dew @2 fad g gwid

What is marginal propensity to consume? What is its relationship with marginal

propensity to save ? lllustrate graphically.

3741 /or

o 1 2?7 Fe R wRenl W el s ® 2 fe gr <

What is multiplier ? What are the factors on which it depends ? Illustrate
graphically.

fonelt STefee®en ¥ C =60+0.66Y,, F=100, G=200 and T =0.10Y
(1) 3™ & GIed hl &R Fd Bl

(9) Gded ¥ W I A H

(|) o TR &I o Gfad 872

For an economy C =60-+0.66Y,, F =100, G =200 and T =0.10Y

(@) Find the equilibrium level of income.
(b)  Find government revenue at equilibrium level of income.
(c) Is the government budget balanced?

371 /or
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What are the important characteristics of public goods ? Why is it provided by the

government ?
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16.

STCTHTEN 39 N 9% 'U' 3R &1 1 2l 72

Why is short term average cost curve 'U' shaped?

31741 /or

T ®H & Gfd Ioh 1 T@RT L 5@ WA Jfd Tk Hl A

(e =1 () e>1(F)e <1 &

Draw the supply curve of a firm when the elasticity of its supply curve is
@ e =1 (b) e>1 (c)e<1
s gl ufqeaedf wd & sreyemedE qfd O w9 i e 22

How is the short term supply curve of a perfectly competitive firm determined?

3741 /or
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What are the conditions for profit maximizations of firm in short run?

o g O @ gew o ufteds e we
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(F) qfd =k SEf SR qun 7 o SRt SR fire W

Show the change in price and demand when

(@) Both supply and demand curves shift to the right.

(b)  Both supply and demand curves shift to the left.

(c)  Supply curve shifts to the left and demand curve shifts to the right.
Or

e feif ®ima Hifd & SR W P g9 ged 82 e % g ' i

What is the effect of 'minimum support price policy' on the market? Clarify with the
help of diagram.
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